Ancestry of Ariadne

Helios Tethys = Ocean
|
Circe Minos = Pasiphae = Bull Asterodeia = Aietes = Eidyia
| Minotaur
Androgeos Ariadne (1) = Theseus = (3) Phaedra Apsyrtus Medea Chalkiope = Phrixus

]
[ | [ |
Argos Melas Phrontis Kytissoros

Ancestry of Theseus

Erichthonius = Praxithea

Pandion | = Zeuxippe Zeus
I I I | I
Erechtheus Procne Philomela Niobe Tantalus
I I |
Metion Pandorus Cecrops Il Pelops = Hippodamia
|
| | | | |
Eupalamus Pandion Il Pittheus Atreus Electryon = Lysidice Thyestes
_ | | T | _
Daedalus Perdix Lycus Pallas  Nisus Aegeus = Aethra Agamemnon Menelaus Alcmena Aegisthus
Icarus Antiope (2) = Theseus = (3) Phaedra Heracles

Hippolytus






